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INTERMEDIATE EXAMINATION – 2024 (ANNUAL) 
Model Set 

Computer Science 

I.A., I.Sc. & I.Com. – (OPT) 

Total no. of Questions : 70+20+6=96 
dqy iz'uksa dh la[;k % 70+20+6=96 

Instructions for the candidate :- 

1- ijh{kkFkhZ OMR mÙkj&i=d ij viuk iz'u iqfLrdk Øekad ¼10 vadksa dk½ vo'; 

fy[ksaA  

Candidate must enter his/her Question Booklet serial No. (10 Digits) in 

the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answer in their own words as far as 

practicable. 

3- nkfguh vksj gkf'k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz'uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; fn;k 

x;k gSA 

15 minutes of extra time has been allotted for the candidate to read the 

questions and follow the instructions carefully. 

5- ;g iz'u iqfLrdk nks [k.Mksa esa gS]   

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full Mark - 70 

iq.kkZad & 70 

Sub. Code - 122 

221/328
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This question paper is divided into two sections : Section-A  and 

Section-B. 

6- [k.M&v esa 70 oLrqfu"B iz'u gSa] ftuesa ls fdUgha 35 iz'uksa dk mÙkj nsuk vfuok;Z 

gSA 35 iz'uksa ls vf/kd mÙkj nsus ij izFke 35 mÙkj dk gh ewY;kadu gksxkA izR;sd ds 

fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds fy, miyC/k djk;s x;s OMR&mÙkj 

i=d esa fn;s x;s lgh fodYi dks dkys@uhys ckWy isu ls izxk<+ djsaA fdlh Hkh 

izdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn OMR mŸkj i=d esa iz;ksx 

djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 70 objective type questions, out of which any 

35 questions are to be answered. If more than 35 Questions are 

answered, then only first 35 will be evaluated. Each carrying 1 mark. 

Darken the circle with black/blue ball pen against the correct option on 

OMR Answer Sheet provided to you. Do not use 

Whitener/Liquid/Blade/Nail etc. on OMR Answer Sheet, otherwise the 

result will be invalid. 

7- [k.M&c esa 20 y?kqmÙkjh; iz'u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gS] ftuesa ls 

fdUgha 10 iz'uksa dk mÙkj nsuk vfuok;Z gSA blds vfrfjDr bl [k.M esa 6 nh?kZ 

mŸkjh; iz'u fn;s x;s gSaA izR;sd ds fy, 5 vad fu/kkZfjr gSa] ftuesa ls fdUgha 3 iz'uksa 

dk mŸkj nsuk vfuok;Z gSA  

In Section-B, there are 20 Short answer type questions, each carrying 

2 marks, out of which any 10 questions are to be answered. Apart from 
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this, there are 6 Long Answer Type Questions, each carrying 5 marks, 

out of which any three Questions are to be Answered.  

8- fdlh rjg ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 

/ SECTION-A 

/Objective Type Questions. 

iz'u la[;k 1 ls 70 rd ds izR;sd iz'u ds lkFk pkj fodYi fn, x;s gSa] ftuesa ls ,d lgh gSA 

vius }kjk pqus x, lgh fodYi dks OMR&'khV ij fpfàr djsaA fdUgha 35 iz'uksa dk mŸkj nsaA 

          35x1=35 

Question No.- 1 to 70 have four options, out of which only one is correct you 

have to mark your selected option, on the OMR-Sheet. Answer any 35 questions. 

          35x1=35 

1- drkj MsVk lajpuk dks ----------------- ds :i esa tkuk tkrk gSA 

 (A) yhQks     (B) fQyks 

 (C) yhyks     (D) QhQks 

 Queue data structure is known as ................... 

 (A) LIFO     (B) FILO 

 (C) LILO     (D) FIFO 

2- lh vkmV ¼ ½------------------ gSA  

 (A) buiqV QaD'ku    (B) vkmViqV QaD'ku 

 (C) ifjoŸkZuh;    (D) MsVk izdkj 
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 Cout () is a/an ……… 

 (A) Input Function   (B) Output Function 

 (C) Variable    (D) data type 

3- cwy ,d ……… gSA 

 (A) QaD’ku     (B) vkWijsVj 

 (C) fLFkj     (D) MsVk izdkj 

 Bool is a/an ……… 

 (A) Function    (B) Operator 

 (C) Constant    (D) data type 

4- Sqrt () QaD'ku ----------------------- esa miyC/k gSA 

 (A) cstring.h    (B) iostreams.h  

 (C) xf.kr-,p     (D) stdio.h 

 Sqrt () function is available in ……… 

 (A) cstring.h    (B) iostreams.h 

 (C) math.h     (D) stdio.h 

5- NOR ,d ……… gSA 

 (A) Dosjh     (B) fo'ks"krk izdkj 

 (C) ck/kk     (D) rkfdZd vkWijsVj 

 NOR is a/an ……… 

 (A) Query     (B) attribute type 

 (C) constraint    (D) Logical operator 
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6- LVSd esa dksbZ oLrq Mkyus ij tc LVSd Hkjk ugha gksrk gS rks mls ------------- dgk tkrk gSA 

tc LVSd [kkyh ugha gksrk gS rks vkbVe ds lapkyu vkSj foyksiu dks -------------------- vkWijs'ku 

dgykrk gSA 

 (A) ikWi- iq'k     (B) iq'k- ikWi 

 (C) Mkysa- gVk,¡    (D) gVk,¡- Mkysa 

 Inserting an item into the stack when stack is not full is called ……… 

operation and deletion of item form the stack. when stack is not empty is 

called ……....… operation. 

 (A) pop. push    (B) push. pop 

 (C) insert. delete    (D) delete. insert 

7- MsVk lajpuk lapkyu ds fdl ekeys esa vf/kdre le; yxrk gS\ 

 (A) lcls [kjkc fLFkfr   (B) vkSlr ekeyk 

 (C) loZJs"B ekeyk    (D) dksbZ ugha 

 Which case of data structure operation takes maximum time? 

 (A) Worst Case    (B) Average Case 

 (C) Best Case    (D) None 

8- dk;kZRed fuHkZjrk -------------- dk mi;ksx djds dk;kZfUor fd;k tkrk gS % 

 (A) izkFkfed dqath    (B) fons'kh dqath 

 (C) xSj dqath     (D) dksbZ ugha 

 Functional dependency implemented using ....... 

 (A) Primary key    (B) Foreign key 
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 (C) Non key    (D) None 

9- Mhch,e,l Hkk"kk dkSu lh gS \ 

 (A) lh      (B) ,lD;w,y 

 (C) tkok     (D) lh$$ 

 Which one is DBMS language ? 

 (A) C      (B) SQL 

 (C) Java     (D) C++ 

10- ,d oxZ n'kkZrk gSA 

 (A) fojklr     (B) cgq:irk 

 (C) lnL; lekjksg    (D) encapsulation 

 A class represents 

 (A) Inheritance    (B) polymorphism 

 (C) Member function   (D) encapsulation 

11- cwfy;u QaD'ku A+BC ----------------------- dk NksVk :i gSA 

 (A) ,ch$chlh    (B) ¼,$ch½ ¼,$lh½ 

 (C) ,ch$,chlh    (D) ¼,$lh½ ch 

 The boolena function A+BC is a reduced form of ............... 

 (A) AB+BC     (B) (A+B) (A+C) 

 (C) AB+ABC    (D) (A+C) B 

12- v"Vd la[;k iz.kkyh dk vk/kkj gS \ 

 (A) 10     (B) 8 
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 (C) 2      (D) 16 

 Base of octal number system is ? 

 (A) 10     (B) 8 

 (C) 2      (D) 16 

13- ckbujh uacjksa dk izfrfuf/kRo djus ds fy, mi;ksx fd, tkus okys vad D;k gSA 

 (A) 0]1     (B) 1]2 

 (C) 0]1]2     (D) 0]2 

 What are the digits used to represent binary numbers. 

 (A) 0,1     (B) 1,2 

 (C) 0,1,2     (D) 0,2 

14- dkSu lk Mhch,e,l ls lacaf/kr ugha gS \ 

 (A) bdkbZ     (B) fo'ks"krk 

 (C) d{kk     (D) iafä 

 Which one is not related to DBMS ? 

 (A) ENTITY    (B) ATTRIBUTE 

 (C) CLASS     (D) ROW 

15- fuEu esa ls fdl SQL dekaM dk iz;ksx Vscy gVkuss ds fy, fd;k tkrk gS \ 

 (A) Mkysa     (B) cuk,¡ 

 (C) n'̀; cuk,¡     (D) MªkWi Vscy 

 Which of the following SQL command used to delete table ? 

 (A) INSERT    (B) CREATE 
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 (C) CREATE VIEW   (D) DROP TABLE 

16- fuEufyf[kr esa ls dkSu ,d fofŸk; ys[kk lkW¶Vos;j gS \ 

 (A) foaMkst     (B) VSyh 

 (C) istesdj     (D) isaV 

 Which of the following is a financial accounting software ?  

 (A) Windows    (B) Tally 

 (C) Pagemaker    (D) Paint 

17- HTTP dk eryc gSA  

 (A) gkbij Vsyh VªkalQj izksVksdkWy  (B) gkbij VªkaliksVZ Vªkalfe'ku izksVksdkWy 

 (C) gkbij VsDLV VªkalQj izksVksdkWy (D) dksbZ ugha 

 HTTP stands for ? 

 (A) Hyper tele transfer protocol  

 (B) Hyper transport transmission protocol 

 (C) Hypertext transfer protocol  

 (D) None 

18- lcls NksVk daI;wVj usVodZ dkSu lk gS \ 

 (A) ilZuy ,fj;k usVodZ   (B) ySu 

 (C) vkneh     (D) oku 

 Which one is the smallest computer network? 

 (A) Personal Area Network  (B) LAN 

 (C) Man     (D) WAN 
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19- #TAXCALC () ……… gS  

 (A) CykWd uke    (B) mi;ksxdrkZ lekjksg dk uke 

 (C) gsMj Qkby    (D) mi;ksxdrkZ MsVk uke 

 #TAXCALC () is ………  

 (A) block name    (B) User Function name  

 (C) header file    (D) User data name 

20- fe= Qad’ku -------------- ds fy, bLrseky fd;k tk ldrk gSA 

 (A) nks oxZ     (B) ,d oxZ 

(C) oLrq vkSj oxZ    (D) dksbZ ugha 

Friend function can be use for .......... 

(A) Two Classes    (B) One Classes. 

(C) Object and Class   (D) None 

21- A Class VsEiysV ds :i esa ------------- ds fy, dke djrh gSA 

 (A) dk;ZØe     (B) oLrq 

 (C) fof/k;k¡     (D) mijksä lHkh 

A class work as template for ........... 

(A) Program    (B) Object 

(C) Methods     (D) All above 

22- OOP dh dkSu lh fo'ks"krk dksM iqu% iz;ksT; dks bafxr djrh gS\ 

 (A) ,udSIlqys'ku    (B) oa'kkuqØe 

 (C) vewrZ     (D) cgq:irk 
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 Which feature of OOP indicated code reusability? 

 (A) Encapsulation   (B) Inheritance 

 (C) Abstraction    (D) Polymorphism 

23- og fo'ks"krk ftlds }kjk ,d oLrq nwljh oLrq ds lkFk varfØ;k dj ldrh gS \ 

 (A) -MsVk VªkalQj    (B) MsVk ckbafMax 

 (C) lans'k xqtjuk    (D) lans'k i<+uk 

 The feature by which one objects can interact with another object is ? 

 (A) Data transfer    (B) Data binding 

 (C) Message passing   (D) Message reading 

24- fuEu esa ls dkSu lk fcVokbZt vkWijsVj gS \ 

 (A) ++     (B) <<  

 (C) ##     (D) %% 

 Which of the following is the bitwise operator ? 

 (A) ++     (B) << 

 (C) ##     (D) %% 

25- Logical AND ds fy, fdl vkWijsVj dk iz;ksx fd;k tkrk gS \ 

 (A) vkWijsVj - &    (B) vkWijsVj - && 

 (C) vkWijsVj -(a)    (D) vkWijsVj - #  

 Which operator is used for logical AND 

 (A) Operator - &    (B) Operator - && 

 (C) Operator - (a)   (D) Operator - # 

26- ,d C++ ykbu fdl fpà ds lkFk lekIr gksrh gSA 
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 (A) v/kZ fojke ¼%½    (B) iw.kZ fojke ¼A½ 

(C) dksek ¼]½     (D) dksyu ¼%½ 

 A C++ line ends with which symbol 

 (A) Semicolon (:)    (B) Full Stop (.) 

(C) Coma (,)    (D) Colon (;) 

27- fuEu esa ls dkSu ikWbaVj ds fy, ekU; flaVSDl gS \ 

 (A) baV*vkbZih(    (B) fLVªax ,l] *IP¾0( 

 (C) baV* I_ P¾0(    (D) baV i(Mcy*Mhih¾&i( 

 Which of the following is valid syntax for pointer ? 

 (A) int*ip:;     (B) string S,*Ip=0; 

 (C) int*i_p=0;    (D) int i;double*dp=&i; 

28- # feu ¼ ½---------- dk ,d mnkgj.k gSA 

 (A) dk¡LV     (B) izhizkslslj 

 (C) v{kj     (D) mijksDr esa ls dksbZ ugha 

 # MIN () is an example of ........ 

 (A) const     (B) preprocessor  

 (C) Literals     (D) none of above 

29- fyaDM lwph ds rRoksa dks laxzfgr fd;k tkrk gSA 

 (A) ,d lajpuk esa    (B) ,d lj.kh esa 

 (C) fMLd esa dgha Hkh    (D) lfUufgr Lef̀r LFkku esa 

 The elements of Linked list are stored 
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 (A) in a structure    (B) in an array 

 (C) Any where in the disk  (D) in contiguous memory location 

30- ,d dks"Bd psdj izksxzke dk mi;ksx djds loksZŸke :i ls dk;kZfUor fd;k tk ldrk gSA 

 (A) lwph     (B) drkj 

 (C) LVSd     (D) mijksä esa ls dksbZ Hkh 

 A parentheses checker program can be best implemented using  

 (A) List     (B) Queue 

 (C) Stack     (D) Any of above 

31- oLrqvksa ds laxzg esa nh xbZ oLrq dk LFkku Kkr djuk -------------------- dgykrk gSA 

 (A) [kkst     (B) <w¡<+uk 

 (C) [kkst     (D) [kuu 

 Finding the location of a given item in a collection of items is called ...... 

 (A) Discovering    (B) Finding 

 (C) Searching    (D) Mining 

32- Rofjr N¡VkbZ dks ------------------ ds :i esa Hkh tkuk tkrk gSA 

 (A) etZ lkWVZ     (B) Vªh lkWVZ 

 (C) 'kSy lkWVZ     (D) Hkkx lkWVZ  

  Quick sort is also known as ................. 

 (A) Merge sort    (B) Tree sort 

 (C) Shell sort    (D) Portion sort 

33- SQL esa jkWycSad ,d ------------------- dFku gSA  
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 (A) Vhlh,y     (B) MhMh,y 

 (C) Mh,e,y     (D) Mhlh,y 

 ROLLBACK in SQL is a ............. statement. 

 (A) TCL     (B) DDL 

 (C) DML     (D) DCL 

34- MsVkcsl okrkoj.k esa fuEufyf[kr dks NksM+dj lHkh ?kVd 'kkfey gSA 

 (A) Mhch,     (B) MsVkcsl 

 (C) mi;ksxdŸkkZ    (D) vyx Qkbysa 

 The Database environment includes all the following components 

 except. 

 (A) DBA     (B) Database 

 (C) User     (D) Separate files 

35- SQL esa fy[kk x;k izksxzke LVsVesaV dgykrk gSA 

 (A) D;ksjh     (B) izfØ;k 

 (C) Qad’ku     (D) fjdkWMZ 

 A Program statement written in SQL is called. 

 (A) Query     (B) Procedure 

 (C) Function    (D) Record 

36- C++ esa iz;qDr o.kksZa] izrhdksa ds laxzg dks dgrs gSa \ 

 (A) o.kZekyk     (B) ,&tsM 

 (C) dSjsDVj lsV    (D) dksbZ ugha 
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 Collection of character, symbols used in C++ is called 

 (A) Alphabet    (B) A-Z 

 (C) Character set    (D) None 

37- C++ esa flysD'ku czkafpax LVsVesaV -------------- dk mi;ksx djds dk;kZfUor fd;k tk ldrk 

 gSA 

 (A) ;fn     (B) ;fn ----------- rks --------- vU; 

(C) l'krZ vkWijsVj    (D) mijksä lHkh 

Selection branching statements in C++ can be implement using........ 

(A) if      (B) if ......... then .......... else 

(C) Conditional operator  (D) All above 

38- C++ esa dalksy ls flaxy dSjsDVj dks i<+us ds fy, fdl QaD'ku dk iz;ksx fd;k  tkrk 

gS\ 

 (A) izkIr djsa ¼lh ,p½   (B) xsVykbu ¼lh ,p½ 

 (C) i<+sa ¼lh½     (D) xsVp ¼,½ 

 Which function is used to read a single character from the console in  C++. 

 (A) get (ch)     (B) get line (ch) 

 (C) read (ch)    (D) getch (a) 

39- C++ esa dalksy ij flaxy dSjsDVj fy[kus ds fy, fdl QaD'ku dk iz;ksx fd;k tkrk gSA 

 (A) put ¼lh ,p½    (B) cout. put line ¼lh ,p½ 

 (C) fy[kuk ¼lh ,p½    (D) putch ¼,½ 

 Which function is used to write a single character to console in C++ ? 
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 (A) put (ch)     (B) cout. put line (ch) 

 (C) writer (ch)    (D) putch (a) 

40- ,QVhih dk eryc gS& 

 (A) Qkby VªkalQj izksVksdkWy  (B) Qkby Vªkalfe'ku izksVksdkWy 

 (C) QkWeZ VªkalQj izksVksdkWy   (D) QkWeZ Vªkalfe'ku izksVksdkWy 

 FTP stands for 

 (A) File transfer protocol   (B) File transmission protocol 

 (C) Form transfer protocol  (D) Form transmission protocol 

41- dkWye gsMj dks bl izdkj lanfHkZr fd;k tkrk gS---------------- 

 (A) Vscy     (B) laca/k 

 (C) xq.k     (D) iafä 

 Column header is refer as ............... 

 (A) Table     (B) Relation 

 (C) Attributes    (D) Row 

42- vo'kks"k.k dkuwu ds fy, vfHkO;fä ------------------ }kjk nh xbZ gSA 

 (A) A+AB+=A    (B) A+AB=B 

 (C) AB+AA=A    (D) A+B=B+A 

 The expression for absorption law is given by ............... 

 (A) A+AB+=A    (B) A+AB=B 

 (C) AB+AA=A     (D) A+B=B+A 

43- C++ Hkk"kk ----------------------------- esa fodflr gqbZ\ 
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 (A) 1972 esa ;w,l, dh ,Vh ,aM Vh dh csy yscksjsVjht 

 (B) 1973 esa ;w,l, lu ekbØks flLVEl 

 (C) 1972 esa dSfEczt fo'ofo|ky; 

 (D) 1979 esa ;w,l, dh ,Vh ,aM Vh dk csy yscksjsVjht 

 C++ Language developed at ................? 

 (A) AT & T's Bell Laboratories  

 (B) Sun Microsystems in 1973 

 (C) Cambridge University in 1972 

 (D) AT & T's Bell Laboratories of USA in 1979 

44- -------------------- ,d izksxzke dh lcls NksVh O;fäxr bdkbZ gSA 

 (A) ifjorZuh;    (B) fu;a=.k 

 (C) pfj=     (D) Vksdu 

 ............... is the smallest individual unit in a program. 

 (A) Variable    (B) Control 

(C) Character    (D) Token 

45- fuEufyf[kr esa ls dkSu c++ esa lgh variable gS\ 

 (A) Tvar_name    (B) TVARNAME  

 (C) VAR_1234    (D) svar_name 

 Which of the following is a valid varibale name in c++? 

 (A) Tvar_name    (B) TVARNAME 

 (C) VAR_1234    (D) svar_name 
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46- C++ ----------------- izdkj dh izksxzkfeax Hkk"kk gSA  

 (A) oLrq mUeq[k    (B) izfØ;kRed 

 (C) fcV Lrj dh Hkk"kk   (D) dk;kZRed 

 C++ is ........... type of programming language ? 

 (A) Object oriented   (B) Procedural 

 (C) Bit level language   (D) Functional 

47- fuEufyf[kr esa ls fdls bal'kZu@iqV Vw vkWijsVj dgk tkrk gS\ 

 (A) >>     (B) << 

 (C) >      (D) < 

 Which of the following is called insertion/put to operator? 

 (A) >>     (B) << 

 (C) >      (D) < 

48- C++ esa cwfy;u osfj,cy dk vkdkj D;k gSA  

 (A) 1 fcV     (B) 1 ckbV 

 (C) 4 ckbV~l     (D) 2 ckbV~l 

 What is the size of a boolean variable in C++ ? 

 (A) 1 bit     (B) 1 byte 

 (C) 4 bytes     (D) 2 bytes 

49- fuEufyf[kr esa ls dkSu lh fizVaQ ¼ ½ ds cjkcj gS \ 

 (A) lh bu      (B) lh vkmV 

 (C) fizaV     (D) buiqV 
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 Which of the following is C++ equivalent for printf () ? 

 (A) C in     (B) C out 

 (C) Print     (D) Input 

50- fuEufyf[kr esa ls dkSu ,d izos'k fu;af=r ywi gS \  

(A) for     (B) while  

(C) do-while    (D) both while and for 

which of the following is an entry- controlled loop ? 

(A) for     (B) while 

(C) do-while    (D) both while and for 

51- fuEufyf[kr esa ls dkSu Ldksi fjtkWY;w'ku vkWijsVj gS \ 

 (A)       (B) * 

 (C) : :      (D) \ 

 Which of the following is the scope resolution operator ? 

 (A) .      (B) * 

 (C) : :      (D) \ 

52-  C++ esa] fMQkWYV :i ls o.kZ MsVk izdkj dk fpà D;k gS \ 

 (A) Signed     (B) Unsigned 

 (C) Implementation dependent (D) Unsigned Implementation 

 In C++, what is the sign of character data type by default ?  

 (A) Signed     (B) Unsigned 

 (C) Implementation dependent (D) Unsigned Implementation 
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53- ;fn vkidks dbZ fodYiksa ds vk/kkj ij fu.kZ; ysuk gS] rks fuEu esa ls dkSu lk lcls 

 mi;qä gS\ 

 (A) vxj     (B) vxj&vU; 

 (C) vxj&vkSj&vxj    (D) mijksä lHkh 

 If you have to make decision based on multiple choices, which of the 

 following is best suited ? 

 (A) if      (B) if-else 

 (C) if-else-if    (D) All of the above 

54- C++ Hkk"kk esa ywIl dk iz;ksx fdlds }kjk fd;k tkrk gS\ 

 (A) While loop    (B) For loop + 

 (C) Do while loop    (D) All of the above 

 Loops in C++ Language are implemented using ? 

 (A) While loop    (B) For loop + 

 (C) Do while loop    (D) All of the above 

55- fuEufyf[kr esa ls dkSu ,d daLVªDVj dk izdkj ugha gS \ 

 (A) dkWih daLVªDVj    (B) fe= fuekZrk 

 (C) fMQkWYV daLVªDVj   (D) iSjkehVj ;qä daLVªDVj 

 Which of the following is not a type of constructor ? 

 (A) Copy constructor   (B) Friend constructor 

 (C) Default constructor   (D) Parameterized constructor 
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56- fuEufyf[kr esa ls fdl vo/kkj.kk dk vFkZ ju Vkbe ij ;g fu/kkZfjr djuk gS fd fdl 

 fof/k dks ykxw djuk gS \ 

 (A) MsVk fNikuk    (B) xfr'khy Vkbfiax 

 (C) xfr'khy ca/ku    (D) xfr'khy yksfMax 

 Which of the following concepts means for determining at runtime what 

 method to invoke ? 

 (A) Data hiding    (B) Dynamic typing 

 (C) Dynamic binding   (D) Dynamic loading 

57- juVkbe esa dkSu lk Mkyk tkrk gS\ 

 (A) ewY; }kjk dkWy djsa   (B) lanHkZ }kjk dkWy djsa 

 (C) fMQkWYV rdZ    (D) ikWbaVj }kjk dkWy djsa 

 Which one is inserted into runtime ? 

 (A) Call by value    (B) Call by reference 

 (C) Default arguments   (D) Call by pointer 

58- fuEufyf[kr esa ls dkSu fe= ugha gks ldrk gS\ 

 (A) QaD'ku     (B) d{kk 

 (C) oLrq     (D) vkWijsVj QaD'ku 

Which of the following cannot be friend? 

(A) Function    (B) Class 

(C) Object     (D) Operator function 

59- fuEufyf[kr esa ls dkSu lk Hkko mRiknksa ds ;ksx ¼,lvksih½ ds :i esa gS\ 
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 (A) ¼,$ch½ ¼lh$Mh½    (B) ¼, ch lh Mh½ 

 (C) , ch lh Mh    (D) , ch&lh Mh 

 Which of the following expressions is in the sum-of-products (SOP) from? 

 (A) (A+B)(C+D)    (B) (A) B (CD) 

 (C) AB (CD)    (D) AB+CD 

60- Mh ekWxZu ds izes; dks O;atd ABC esa ykxw djus ij gesa ------------ izkIr gksrk gSA 

 (A) A+B+C     (B) A+B+C 

 (C) A+B+CC    (D) A(B+C) 

 Applying De Morgan's theorem to the expression ABC we get ......... 

 (A) A+B+C     (B) A+B+C 

 (C) A+B+CC    (D) A(B+C) 

61- cwfy;u chtxf.kr dks -------------- ds leqPp; ds :i esa ifjHkkf"kr fd;k x;k gSA 

 (A) ,d ewY;     (B) nks ewY; 

 (C) rhu eku     (D) pkj eku 

 Boolean algebra is define as a set of .............. 

 (A) One value    (B) Two value 

 (C) Three value    (D) Four value 

62- fuEufyf[kr cwfy;u vfHkO;fä dks ykxw djus ds fy, fdrus QkVdksa dh vko';drk gksxhA 

 ljyhdj.k\ ,Dl okbZ $,Dl ¼,Dl$tsM½$okbZ ¼,Dl$tsM½ 

 (A) 1      (B) 2 

 (C) 4      (D) 5 
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 How many gates would be required to implement the following Boolean 

expression after simplification ? 

 XY+X(X+Z)+Y(X+Z)  

 (A) 1      (B) 2 

 (C) 4      (D) 5 

63- ,d fjys'kuy Ldhek esa] izR;sd Viy dks QhYm esa foHkkftr fd;k tkrk gS ftls dgk 

tkrk gSA 

 (A) laca/k     (B) Mksesu 

 (C) iz'u     (D) mijksä lHkh 

 In a relational schema, each tuple is divided into fields called. 

 (A) Relations    (B) Domains 

 (C) Queries    (D) All of the above 

64- DFD dk eryc gSA 

 (A) MsVk izokg nLrkost   (B) MsVk Qkby vkjs[k 

 (C) MsVk izokg vkjs[k   (D) mijksä esa ls dksbZ ugha 

 DFD stands for...  

 (A) Data flow document  (B) Data file diagram 

 (C) Data flow diagram   (D) None of the above 

65- --------------------- Vscy MsVkcsl ds ckjs esa ;k flLVe ds ckjs esa tkudkjh laxzghr djrk gSA 

 (A) ,lD;w,y     (B) usLVsM 

 (C) flLVe     (D) buesa ls dksbZ ugha 
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 ............... table store information about database or about the system. 

 (A) SQL     (B) Nested 

 (C) System     (D) None of the above 

66- ----------------- DykWt ,d vfrfjä fQYVj gS tks ifj.kke ij ykxw gksrk gSA 

(A) Select     (B) Group-by  

(C) Haring     (D) Order by 

............... clause is an additional filter that is applied to the result.  

(A) Select     (B) Group-by 

(C) Haring     (D) Order by 

67- daI;wVj usVodZ gSA 

 (A) gkMZos;j ?kVdksa vkSj daI;wVjksa dk laxzg 

  (B) lapkj pSuyksa }kjk ijLij tqM+s 

 (C) lalk/kuksa vkSj lwpukvksa dks lk{kk djuk 

 (D) mijksä lHkh 

 Computer Network is 

 (A) Collection of hardware components and computers    (B) 

Interconnected by communication channels 

 (C) Sharing of resources and infromation 

  (D) All of the above 

68- nks fMokbl usVodZ esa gS ;fn 
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(A) ,d fMokbl esa ,d izfØ;k nwljs fMokbl esa ,d izfØ;k ds lkFk lwpuk dk  vknku 

iznku djus esa l{ke gSA 

 (B) nksuksa midj.kksa ij ,d izfØ;k py jgh gSA 

 (C) fofHkUu midj.kksa esa pyus okyh izfØ;kvksa PID ds leku gksrs gSaA   

 (D) dksbZ Hkh mYys[k ugha fd;k x;kA 

 Two devices are in network if 

 (A) a process in one device is able to exchange infromation with a process 

in another device. 

 (B) a process is running on both devices. 

 (C) PIDs of the processes running of different devices are same. 

 (D) None of the mentioned. 

69- vkbZih iSdsV dk U;wure gsMj vkdkj D;k gS\  

 (A) 16 ckbZV~l    (B) 10 ckbZV~l 

 (C) 20 ckbZV~l    (D) 32 ckbZV~l 

 What is the minimum header size of an IP packet ? 

 (A) 16 bytes    (B) 10 bytes 

 (C) 20 bytes    (D) 32 bytes

70- izR;sd vkbZih iSdsV esa gksuk pkfg,A 

 (A) dsoy L=ksr dk irk   (B) dsoy xarO; irk 

 (C) L=ksr vkSj xarO; irk   (D) L=ksr ;k xarO; irk 

 Each IP packet must contain 
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 (A) Only source address  (B) Only destination address 

 (C) Source and destination address 

 (D) Source or destination address 

Section-B  

Short Answer Type Questions

iz'u la[;k 1 ls 20 rd y?kq mÙkjh; gSaA fdUgha 10 iz'uksa ds mÙkj nsaA izR;sd ds fy, 2 vad 

fu/kkZfjr gSaA              10x2=20 

Question no. 1 to 20 are Short answer type. Answer any 10 questions. Each 

question carries 2 marks.  

1. vfxze MsVk izdkj ifjHkkf"kr djsaA 

Define Advance Data type. 

2. ,d baMsDl Qkby D;k gS \ 

What is an index file ? 

3. Mk;jsDV ,Dlsl QkbZy dks le>kb,A 

Explain Direct access file. 

4. izh vkWMZj VªsolZy D;k gS \ 

What is pre order traversal ? 

5. Bksl oxZ dks le>kb,A  

Explain Concrete class. 

6. d{kkvksa ds chp lg;ksx D;k gS \ 
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What is collaboration between classes? 

7. bdkbZ v[kaMrk dh O;k[;k djsaA  

Explain Entity intergrity. 

8. lpZ batu dk o.kZu dhft,A  

Describe search engine. 

9. LiSe esy D;k gS \ 

What is spam mail ? 

10. fMcfxax D;k gS \ 

What is debugging ? 

11. cwfy;u chtxf.kr esa lg;ksx ds fu;e dh O;k[;k dhft,A 

Explain rule of association in Boolean algebra. 

12. gsMj Qkby D;k gS\ 

What is header file ? 

13. C++ esa ykWftdy vkWijsVlZ dks le>kb,A 

Explain logical operators in C++ 

14. rhu Lrjh; MsVkcsl n'̀; D;k gS\ 

What are three level database views ? 

15. ,d futh pj D;k gS \ 

What is a private variable? 

16. ykWftdy ,jj D;k gS\ 
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What is Logical error ? 

17. fyadj D;k gS \ 

What is Linker? 

18. vewrZ oxZ D;k gS \ 

What is abstract class ? 

19. MsVk folaxfr;ksa dh O;k[;k djsaA 

Explain Data Anomalies. 

20. bZ&vkj Mk;xzke D;k gS \ 

What is E-R Diagram ? 

Long Answer Type Questions

iz'u la[;k 21 ls 26 rd nh?kZ mÙkjh; gSaA fdUgha 3 iz'uksa ds mÙkj nsaA izR;sd ds fy, 5 vad 

fu/kkZfjr gSaA              3x5=15 

Question nos. 21 to 26 are Long answer type. Answer any 3 questions. Each 

question carries 5 marks.  

21. ,d iw.kkZad la[;k dks Lohdkj djus ds fy, C++ esa ,d izksxzke fy[ksaA fQj iznf'kZr djsa 

fd D;k la[;k gS ,d fo"ke la[;k ;k ;g ,d le la[;k gS\ 

Write a program in C++ to accept an integer number then display whether 

the number is an odd number or it is an even number ? 

22. oxZ ds vk;ru dh x.kuk djus ds fy, C++ esa ,d izksxzke fy[ksaA 

Write a program in C++ to calculate the volume of a square. 
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23. ,d vk;r ds {ks=Qy vkSj ifjf/k dh x.kuk vkSj iznf'kZr djus ds fy, C++ esa ,d 

izksxzke fy[ksa] pkSM+kbZ vkSj yEckbZ Lohdkj djrs gq,A 

Write a program in C++ to calculate and display Area and Perimeter of a 

rectangle by accepting length & breadth. 

24. cgq:irk iznf'kZr djus ds fy, ,d oLrq mUeq[k dk;ZØe fy[ksaA 

Write an object oriented program to demonstrate polymorphism. 

25. lk/kkj.k C;kt dh x.kuk ds fy, ,d oLrq mUeq[k dk;ZØe fy[ksaA 

Write an object oriented program to calculate simple interest. 

26. nks iw.kkZadksa ds xq.kuQy dks [kkstus ds fy, QaD'ku VsEiysV dk mi;ksx djds ,d C++ 

izksxzke fy[ksa la[;kk,¡A 

Write a C++ program using function template to find the product of two 

integer numbers. 

 

 

 


